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(1) The chief causes of fracture of propeller shafting are :——
(1) Flows in material.
(2) Corrossion of outboard length of shafting.

(3) Aococidents due to propeller striking rocks or wreokage,
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denser the water and such small quantities of air as may
enter by leakage or with the steam, and which would ulti-
mately destroy the vacuum if not removed.
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(3) The boiler usod in the mereantile marine is to-day almost
exclusively of the tank type, and simply cy lindriml in form,
made of steel, and fitted with iron or steel tubes.
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